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f 1gsTS OF DIVISIBILITY
[z

 aid to be divisible by another number if upon dividing, no remainder is left. The
A number 'sd.e‘termi"c if a number is divisible by a certain number without carrying oyt the actr
s o |

pivisibility by 2. 3. 10 |

wiw g l
A number is If the last Number Cryilbiels: !:
divisible by digit is 2 5 10 |
0.2.4.6,8 10 v v 7 |

‘J:f 0 35 X v/ X
J, Even numl:-)-eTs-are divisible by 2 and odd numbers are not divisible by 2. |
.
Divisibility by 3 and 9 |
|
A number is If the sum of the Niriber Sum of Divisih :
divisible by | digits is divisible by the digits Isidlety '
3 3 3 |
9 9 27 2+47=9 v vl

33 3+3=6 v X

Divisibility by 4 and 6 |
A number is Number | Divisibleby
o, If the ;
divisible by 4 6 |
number formed by the last two digits of 108 [ 4
the number is divisible by 4. 18 X | /]
|
number is divisible by both 2 and 3. 16 s

- EEIIITEE Which of the following numbers are divisible by 2?
603; 500; 226; 314; 437; 2,498

The numbers 603 and 437 have odd digits, 3and 7, respectively, in the ones place. Thus, these
numbers are not divisible by 2.

The numbers 500; 226: 3|
are divisible by 2.

|

|
4 and 2,498 have even digits or 0 in the ones place. Thus, these number ;
|

.|
I
2L
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& 2 J)JA X 7
<4
2 »x 3
2
N 7
6 -1 6
~ No Remainder —Mi-]_ - Remainder = |

Thus. 226 1s divisible by 2 and 437 is not divisible by 20.

f} A NEEATET Which of the following numbers are divisible by 37
| 337:219: 4.614: 3,729
i [ Number Sum of the digits Divisible by 3 —|
| L
I , 337 3+3+7=13 X |
I  —
! ; 219 2+ 1+9=12 v
I
,‘ 4.614 44+6+1+4=15 v
| 3.729 34+7+24+9=2| v B
L
T [ZEINIETETF Which of the following numbers are divisible by 47
439:6.317: 7.824; 9,936; 21,208
[ Number Number formed by the last two digits Divisible by 4
| 439 39 X

7.824 24

9.936 36

I
|
L 21,208 08

| )
\

[ e317 17 |
=
l |
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57
numbers are divisible by 3¢

<1 Which of the followini
105: 652: 550 5.057; 1.793 . bes
Observe the last digi! of cach of the given nut D R -
- - — T IVISIDIE
T Last digit!s
L Number | = =T J/
s | ’ o
T 2 .
52 = -
o} I 3 /7_ B
7 S
s v/

*— [BIVEIVEE Which of the following numbers are divisible by 107

6.310; 9.000; 4,003; 7,867
If the digit in the ones place in a number is always zero, the number is divisible by |0

Thus, 6.310 and 9,000 are divisible by 10.

“— FZANEIEIE Which of the following numbers are divisible by 1007
70,000: 6,730; 2,800; 9,103; 6,001; 8,330; 8,400

If the digits in the ones place and tens place in a number are zero, the number is divisible by 1oy “1
|

2
]

Thus, 70,000; 2,800 and 8,400 are divisible by 100.

——

* All even numbers are divisible by 2.
* A number is divisible by 3 if the sum of its digits is divisik’
. F\ qurqbef i§ Fiivisible by 4 if the number formed by its iasm:h'
digits is divisible by 4. ¢
* All numbers ending with 0 or 5 are divisible by 5.
* Numbers t'hat are divisible by both 2 and 3 are divisiblebyé.
| 2 ELJEE:: :: j'ivfs!'ble by 9 if. the sum of its digits is divisibie:?:'
b b g Ivisible by 10 if the digit at the ones place oft%,
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